

$$a_1 = K_0 \quad a_n = a_1 + (n-1)d = 91 \Rightarrow 30d + 91 - K_0 = 21 \quad d = V \quad (1)$$

$$K_0 + (n-1)V = 20.1 \Rightarrow 30 + 30V = 20.1 \Rightarrow 30V = -9.9 \Rightarrow V = -0.33 \quad (2)$$

$$100 \leq Vn + 30 \leq 999 \Rightarrow 49V \leq Vn \leq 999 \Rightarrow -1K - 1K + 1 \leq 1K \quad (3)$$

$$a_{n+1} = a_n + d \Rightarrow \begin{cases} a_2 + a_3 + a_4 = 17 \\ a_3 + a_4 + a_5 = 0 \end{cases} \Rightarrow \begin{cases} 2a_1 + 3d = 17 \\ 3a_1 + 6d = 0 \end{cases} \Rightarrow \begin{cases} 2d = -9 \\ d = -2 \end{cases}$$

$$r^{n+1} = \frac{r^n - 1}{r - 1} + r^n = \frac{r^{n+1} - r^n + r^n - 1}{r - 1} = \frac{r^{n+1} - 1}{r - 1} \quad (4)$$

$$r^{n+1} - r^n = r^n - 1 \Rightarrow r^{n+1} - 2r^n + 1 = 0 \Rightarrow r^n = y \Rightarrow y^2 - 2y + 1 = 0 \Rightarrow (y-1)^2 = 0 \Rightarrow y = 1 \Rightarrow r = 1$$

$$\frac{a_1}{a_0} \rightarrow d = 1, d \quad (5)$$

$$a_1 + 9d + 9 + 11d = 20 \Rightarrow 20d = 11 \Rightarrow d = \frac{11}{20}$$

$$a_1 + a_2 + a_3 + a_4 + a_5 + a_6 + a_7 + a_8 + a_9 + a_{10} = 10a_1 + 45d \quad (6)$$

$$r(a_1 + a_2 + a_3 + a_4 + a_5 + a_6 + a_7 + a_8 + a_9 + a_{10}) = r(10a_1 + 45d)$$

$$a_1 + a_1 + d + a_1 + r d + a_1 + r^2 d + a_1 + r^3 d + a_1 + r^4 d = \frac{1}{r} (a_1 + r d + a_1 + r^2 d + a_1 + r^3 d + a_1 + r^4 d)$$

$$\Rightarrow 5a_1 + 10d = \frac{1}{r} (5a_1 + 10r d) \Rightarrow 10a_1 + 20d = 5a_1 + 10r d$$

$$\Rightarrow 10a_1 = 10r d \Rightarrow d = r a_1$$

$$\frac{a_1}{a_1} = \frac{a_1 + d}{a_1} = \frac{a_1 + r a_1}{a_1} = r$$

$t_n - t_{n-1} = 1$ sol. $t_n = 1 + n$ of t_n
 $(t_n - t_{n-1})(t_n + t_{n-1}) = 1$ sol. $\rightarrow 1 \times 2 = 2$

$$\frac{-1(1-4\sqrt{1}) + 1 \pm \sqrt{1}}{1 \pm 1} = \frac{-1 + 1 \pm \sqrt{1}}{1 \pm 1} = \frac{0 \pm 1}{1 \pm 1} = \frac{1}{2} = \sqrt{1}$$

$$\frac{r_1 - r}{r_{n+1} - r} = \frac{r_1}{r_n - r}$$

$1 = n - 1 \Rightarrow n = 2$ $r_n = 2$ $n = 2$ $r_n = 2$ $n = 2$ $r_n = 2$

$a_n + a_{n+1} = a_1 + a_2 \Rightarrow n + n + 1 = 1 + 2 \Rightarrow n = 1$

$a_n = r a_1 \Rightarrow a_1 + r d = r(a_1 + r d) \Rightarrow d = -a_1$

$a_r = a_1 + d = a_1 + (-a_1) = 0$